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12 Simplify,
1200

7. 303 forx = 2
9. 11(w+ 4) '_ y '_ ) 10 7(3z+ y + 2)
Cmaem maenes
' ,.1:6,'_5;4 2+ 3t + 7

=4 {05:_5,,5_9} L e




12 8(3a+5)+a 65

,20 4(2x + 1) 3(x + 13)




2UwEAz L aayrgen,
e as‘an: algebra1c expression,
0 more than twice the number

7 3(2a + 4)

é’ How to s‘oﬁé : . 8 The penmeter of a rectangle i '280 cm. The length i8 20 cm more than
polynomiai equatfon o the width, Fmd the dunensmns '
by factoring ' '-

-.:12. 3s(6t4 ~ 252 - 3t - 6)
140 (x +3)(5x — 7)
16, (x + 6)(x - 4)
S8, (Tw + 6)(4w —'1)

_ 20 x a3
21 '(a—7)(a+7) o B 2-s)e sy




Solve using the substitution method.

-15.

:Solve}by_graphing. _
3 x—y=3

x+y=5

5. x=2y+4

y=2x—-8

T y=6-x
2x — 3y =22

9% x+y=731
x—y=17

13 4x + Sy =5

6x + Ty =7
x+y=4
2x + 3y =17

'_ Solve using the addition method.

2.

10.

12,
14.

16.

8 ; --Chapter Assessment

Determme whether the given ordered pair is a solution of the system of
: equatmns :

L'42;x—y=2
x+ty=6

(-8, -Thx—2y=6

2x=3y=25

x+t2y=26

2x — 3y =26
xiy;l ‘
3y=-2x-2
x+2y=135
x+y=2
Tx+y=10
2y + 5x = 11.
x -4y =7
x+4y=35

2x + 3y =13
3x -5y =10
8x — 10y =2
7x ~ 5y =13

Translate to a system of equations and solve.

¢ 17. A motorboat traveled for 2 hours with an 8 km/h current. The return trip
: against the same current took 3 hours. Find the speed of the motorboat in

18.
S )

20,

C 2L

still water.

The sum of two numbers is 8. Their difference is 12. Find the numbers.

A collection of dimes and quarters totals $3.55. There are 25 coins in all.
How many quarters are there?

Tickets to a junior high school play cost $1.10 for each adult and $0.40 for
each child. If 360 tickets were sold for a total of $282.60, how many
tickets of cach kind were sold?

One train leaves a station heading due west. Two hours later a second
train leaves the same station heading due east. The second train is
traveling 15 mi‘h faster than the first. Six hours after the second train
leaves, the two trains are 580 miles apart. Find the rate at which each
train is traveling.
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Find the length of the side not given for a right trianglé with hypbtenuse c
and legs a and b, :

9. a=10,b =24 10. g =5b=12
1. a=9c=15 ' 12. a=18,¢c = 30
1. b=1,c=V5 4. b=1c=V2.

15.a=1c=V3 16. 2 = V3,6 = V5
17. ¢ = 10,b = 5V3 18. 2 = 3V3,c = 5\/3

19. Error Analysis A student found the length of the hypotenuse. What
error did the student make?

c? = g2 + p?
=52+ 8§
Vel = V52 + 2
c=5+8

¢ =13

B

An equilateral triangle is shown to the right.

20. Find an expression for height /4 in terms of a.
21. Find an expression for area A in terms of a.
22, Find an expression for area A in terms of 4.
23. BIFIECLITE  Which is Iongest?

A. the diagonal of a square with 6 cm sides

B. the diagonal of a rectangle with length 7 cm and
width 5 cm

C. " the hypotenuse of a right triangle with legs 4 cm
and 9 cm long

D. the leg of a right triangle with the other lég 10cm
and the hypotenuse 15 cm long

24. Figure ABCD is a square. Find AC. 3

25. Critical Thinking A right triangle has sides whose lengths are
-consecutive integers. Find the lengths of the sides.



Vaoabulary and) Core Gonoept Chesk

1. COMPLETE THE SENTENCE The perimeter of a square with side length sr isP= .

2. WRITING What formulas can you use to find the area of a triangle in a coordinate plane?

Monitering Progress and Mudeling with Mathematios

. In Exercises 3—6, classify the polygon by the number In Exercises 13-16, find the area of the polygon with the
of sides. Tell whether it is convex or concave. ~ given vertices. (See Example 3.)
{See Example 1.) )

13. E(3, 1), F(3, -2),G(-2, -2)

3. 4, | ,
, 7 14, J(-3,4), K4, 4,13, -3)

15. W(0,0), X(0, 3), ¥(—3,3), Z(-3,0)

5. 6. ‘ -
Q 16. N(-2, 1), P3, 1), 03, —1), R(~2, 1)
In Exercises 17-24, use the diagram.

| | ‘ AY
In Exercises 7—12, find the perimeter of the polygon A(-5,
with the given vertices, (See Example 2.) _ N 4 B(0, 3)
7. G(2,4) HQ2, —3),J(—2, =3), K(~2,4) - 2
8. 0(-3,2),R(1,2), 54, -2), (-3, -2) A2 2N
—4 | -2 2 4 6 x
9. U(—-2,4), V3, 4), W3, —4) 5 4 -1)
10. X(—1,3), ¥(3,0), Z(—1, —2 i
( ), ¥(3,0), Z( ) o 4E(2,u3) [
1. YN ‘—6" D(T. ~5}
4] _}\i( 1,4 : .
2 / \\ . 17. Find the perimeter of ACDE.
> NZ 0N T . .
:[ _T ///‘;5_ /? i 18. Find the perimeter of rectangle BCEF,
L P(—1, —2) /‘/1’(41, Oi) 19. Find the perimeter of AABF. -
L1ty
12 : 20. Find the perimeter of quadrilateral ABCD.
mEEEEREY RN .
Foz 8 1AL, 4 21. Find the area of ACDE.
E(—2, in 12 22. Find the area of rectangle BCEF.
1 B2, 9)
-4 -2 N | 4x 23. Find the area of AABF.
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In Exercises 17-20, mZAED = 34° and m/EAD = 112°.

{See Example 3.)

17. Identify the angles congruent to ZAED. :
27. ZLMNis a straight angle. Find mZLMP and mZNMP.

18. Identify the angles congruent to ZEAD.

P
19. Find m£BDC.
20. Find mZADB. _ (=16x +13P\(—20x + 23)°
In Exercises 21-24, find the indicated angle measure. L m N
21. Find mZABC. 22. Find mZLMN. 28. ZABC'is a straight angle. Find m/ABX and m/CBX.
P
L X
23°
85° N
Py o (14x + 70)°/ (20x + 8)° -
A 8 c
23. mZRST = 114°. Find mZRSV. ‘ 29, Find m£RSQ and mLTSO. .
{15x — 43)°

24. /GHK is a straight angle. Find m£LHK. :
30. Find mZDEH and m/FEH.

(10x + 21)°¢ F

A : N\



